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r 18 an unit vector. Show that Z’— and 7 are perpendicular to each other.
f

State Gauss’ Divergence theorem.

Show that curl grad ¢ = 0. 3+3+143

Or,
(for 2018-2019 syllabus)

In a parallel plate capacitor there is a dielectric slab of width  unit in between the plates. Calculate
the capacitance of the parallel plate capacitor.

Determine the dimension of capacitance.

A 14pF capacitor is connected to a 50V battery. How much electrostatic energy is stored in the
capacitor?

Assume the earth as a sphere of radius 6400 km. What will be its capacitance? 4+2+2+2
State Biot-Savart’s law. Determine an expression of magnetic field at a point near a current
carrying wire of finite length. What will be its value for an infinitely long straight wire?

What type of magnetic material is chosen for permanent magnet?

A circular coil of wire consisting of 100 turns, each of radius 10 cm carries a current of 0.5A.

What is the magnitude of magnetic field B at the centre of the coil? (2+3+1)+1+3

Find the electric field intensity at a point on perpendicular bisector of a dipole.

If the field strength is zero at a point in a electric field, what will be the electric potential at that
point?

What is equipotential surface? Write down its characteristics. 4+2+(2+2)

What do you mean by mutual inductance? What is its unit? Write the relation between
self-inductance and mutual inductance.

What do you mean by linear and non-linear dielectric medium?

State Lenz’s law. Write its mathematical form. Explain the significance of the negative sign.
(I+1+D+H1+1D)+H2+1+2)
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c§ned an Acceptor circuit? (2+3)+3+2

in an inductor is given by W =1L/°. 3+H2+1)+143



